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8.2 - AA Similarity

Bellwork - Find the v__alu\:\a.of-x._x
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Theorem 8.3 Angle-Angle {AA) Similarity Theorem

If two angles of one triangle are

congruent to two angles of another B g
triangle, then the two triangles n D
are similar. p
If /A = /D and /B = ZE,
c :
F

then AABC ~ ADEF.

Proof p. 428

Determine whether the triangles are

C D H
w eat
similar. If they are, write a similarity
E
G

statement. Explain your reasoning.
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Show that the two triangles are similar.
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3. WHAT IF? Suppose that SRATUin Example 2 part (b). Could the

triangles still be similar? Explain. ~ A_r
No ,because bwcmif prove 5% LW oF (0=

a. 2ABE ~ 2ACD b. sSVR~ sUVT

Show that the triangles are similar. Write a similarity statement.
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ACDF ~ ADEF

A flagpole casts a shadow that is 50 feet long. At the same time, a
woman standing nearby who is 5 feet 4 inches tall casts a shadow that
is 40 inches long. How tall is the flagpole to the nearest foot?
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4. WHAT IF? A child who is 58 lnches tall is standing next to the-———
woman in Example 3. How long is the child’s shadow?
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5. You are standing outside, and you measure the lengths of the
shadows cast by both you and a tree. Write a proportion showing how l

you could find the height of the tree. yy\\/ Vl(iﬂ My Shhal ow
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Exit Ticket: One triangle has angles of 18° and 96°, and a second
triangle has angles of 56° and 96°. Are the triangles similar? Explain.
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